ABRHS PHysics (CP) NAME: /<E~(
Velocity & Acceleration

Velocity tells you how quickly 905 f ‘h'oi'\ — changes and is the slope of a os(hon vs
time graph. = tov|d Say distauce also

Acceleration tells you how quickly vélo« +7 changes and is the slope of a veloc [ 'Iz
vs time graph.

From the list of units below, circle all that are velocity and underline all that are acceleration.

m @ kg/m km/s ms? smo misls s s kg

Which of the following graphs could show something that has a constant velocity?

d ‘ i v d ‘t v p v ‘ i
t t
t t d. e.
Which of the following graphs could show something that has a constant acceleration? 'S a
(
v d congiant
t t acce lermbpy,
@ vf o

There are three terms that often get confused: constant speed, constant velocity and constant
acceleration. Explain what each means so that one of your confused friends could understand.

What is your speed for each of the following situations?
a. You travel 100 miles in 2 hours.

cd . w s ]
V-—{_:.,L Sompy\

b. You move 3 meters every second for 5 seconds.

m/s T Twatis Twe vc(.o(:ih,! e § seomds” is gusta diseactipn !

¢. You stand still 10 meters away from your friend for 20 seconds.

d. Starting 5 meters away from a friend, you end up 20 meters away from them after 3 seconds.

4= 20~5 =ISm -4 _ 15 _ m
v=§7 3= S /5
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8. What is your acceleration for each of the following situations?
a. You are speeding up at a constant rate of 3 m/s/s.

K Toat IS accelorhon
3 M

b. You have a constant speed of 30 mph for 5 seconds.

¢. You slow down 15 mph in 3 seconds.
0= -A—\-/: ~1S - |-95 mph
t 2 S
d. You speed up from 5 m/s to 25 m/s in 8 seconds.

Ve SMls  E:8s

= : - Ve-v¢ 5-S
¢ a= —r 3z 22 |2s ma
Vg = 28™/s t é

e. You have a constant velocity of 12 m/s for 4 seconds.

l 0 "‘/s"\

f.  You speed up 8 m/s every second for 2 seconds.
M/Sl

9. Kahwi speeds up from 10 mph to 25 mph in 3 seconds. Kevin speeds up from 20 mph to 35 mph
in 4 seconds.
a. Who had the bigger final velocity? Shrew

Since 35 mph O 1S mph,

ork.

b. Who had the bigger change in velocity? Show your work.

Kohwi = ID325 Kevin: 2035 [y come! both -Hs\mphj
AV = 415 mph Av=HiSmph —
c. had the bigger acceleration? Show your work.

IS .
kobwi [ o= 8Y - 13 (g mph|  pevin:az 2 = 3,35 mph
tE 3 S Y S
t 4
10. Starting at 10 mph, Jayson has a change in velocity of 30 mph that took 4 seconds. Starting

from 15 mph, J aylan has a change in velocity of 20 mph in 2 seconds.
th ? Show your work.

Jowson: [0 mph + 30 mpn Joglon: 1§ mpn+ Lo mph
= 40 mph 3s MFV\

b. Who had the bigger change in velocity? Show your work.

30520 So ‘ Jaysor\!
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c. Who had the bigger acceleration? Show your work.,

J0q Son Toglan: 2 22 o mh
a:%’: .B_O: ?-Smﬂ & 7 §
t Y S
11.
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a. Isthis a constant velocity or a constant acceleration? V’o "
. . ()
Cconstant  velocry R 563'
@O .
b. Where is the object at t = 6? w\l‘k & )(,r'
“ .
- O @
d=z 29m o &P ¢
c. How fast is the object going at t = 8?
Tie slopeis e velociy 450 27 [T M5
d. Make the velocity vs time graph that goes with this motion.
(see OIVJovL’)
12.
20
s A
V., 10 ‘
(m/s) (
Lt
6 12 +

a. Isthis a constant velocity or a constant acceleration?

constant  accelerodion

b. What time is the object moving at 15 m/s?

£2 9 s (§wny between b3 12)

c. What is its acceleration at t = 4?

jost the slope of The line. (£=4 doesit matfer bl its comstant ccdonfion)

o = Sskpe = ?’—?‘i:g = , [0 M/Sz’ Side 3
(= -
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d. Sketch the shape of the position vs time graph that would go with this motion. (You don’t
know how to calculate the numbers at this point.)

13.
4 I
(m‘;s 32 4
) U"\)
t(s)
12 24 £ (sD

Lf

a. Is this a(constant velocity 9r a constant acceleration?

1
Jeve = (Y

b.
d= IZm
o ‘ , (Need b Fijur ovt
c. What is its acceleration at t = 15 second Viow ‘FN' '\1_ wenrd ‘)

oz 6lope of Veloctty= o "/

d. Make the position vs time graph that goes with this motion. (Call the initial position 0.)

12 V

! y
™M

’ t(s) —05

10 20
a. Is this & constant velocity]or a constant acceleration?

b. What is the final position of the object?

c. What is the velocity of the object going at t = 8?
. LY -— b
= e of posibhon = 272 _ =2 - |-0a3 M
v= Slope of posth = = » ‘ AI

d. Make the velocity vs time graph that goes with this motion.

14.
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